RETAN & B2E% %5IE0OEE 03

(1)

(3)

(5)

(7)

(9)

X

) )X (SH308, Af4as®, B4, CH145320%)

AD8%HIE = A x (2) AXx07T=AD %5 E
A D25 %I = A x (4) A x095=AD %%
ADT2%W = A x (6) Ax081=AD % Ik
AD24%5E = A x (8) A x0985=AD % I
AD10.35 %51 & = A x (10) A x0.9009 = A O %5| &
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RD DX, (SH30F, Afk4s®, B# 14y, C#H14320% )

(1) AD4%5E =A x (2)  AX08=AD %75 =
(3) ADIT%BIE = A x (4) A x096=AD 9% i
(5)  AD38%I =A x 6) Ax075=AD %75 =
(1) AD08%IM = A x (8) A x0925=AD %7 &
(9)  ADIR2%EIE =A x (10) A x0.8805 = A @ %11 &
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ReTFAM & B2E% %s|=Z0EHE 03 BESESH
RD K. (ST, Afkast, B 1y, CH15720%)
(1) AD8%HIE =A x| 0.92 (2) Ax07=Ad| 30 |%Hl =
(3) AD25%J = A x| 0.75 (4)  Ax095=AD| 5 |%
(5)  ADT2%W = A x| 0.28 (6) A x081=AdD| 19 |%F
(7)  AD24%8E =A x| 0.976 (8) A x0985=AD| 1.5 |%I
(90  AD1035%5E = A x| 0.8965 (10) A x0.9009 =A ® | 9.91 |%H| =
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(3)

(5)

(7)

(9)

AD4%HE =A x

0.96

ADIT%5HIE = A x

0.83

A D38 %I = A x

0.62

ADO.8%I = A x

0.992

AD922%5HE = A

x| 0.9078

(2)

(4)

(6)

(8)

(10)

DX, (SH30F, Afk4s®, B# 14y, C#H14320% )

A x0.8=AD| 20 |%H|ZE
A x096=AD| 4 | %
Ax075=AD| 25 [%5] =

A x0925=AD| 7.5

%5

A x0.8805 =A D

11.95

%5 &
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